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log () LABJNDuUS triangle lightnesst*

t* he=Yw nc=100,
t*LAgINDus =IN(A 17 +A2Y)(A2rAon) - (Yad/100<Y<=Y,o)

L ABINDUS =IN(A 1+ A2X)/(AgAon)  (X=YTYy)
t+,(3,6)=146 * ,(18)=332 t* y(90)=517

log[t*/t* J=0, m,=0,33
application
range

=1
SXw=5

LABJINDuS

tristimulus value difference

Yoc=Yw nc=100,
L ABINDUs =IN(A 17 +AZNY)(A2rAon) - (Yad/100<Y<=Y,o)
1 AgINDUs =IN(A 10+ A2X)(A2iAon) - (X=YTY)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aon 0615, Aona=1,0, see CIE 2302019

>
=332, dY,=0,18 dY,/(,=0 4101 /&

log (AY/Y) LABJINDU5

_ tristimulus value sensitivity
SEERY) Yoc=Yw © nc=100
L ABINDUs =IN(A 17 +A2NY)(A2rAon)  (Yad/100<Y<=Yoo)

1 AgaNDus =IN(A 10t A2X)(A2iAon) - (X=YTY)
AYIY=Aor(A A VI =Ag (At AsX)/Y

1
I=1

xN=0,2 Xw=5

LABJINDuS

tristimulus value contrast
Yoc=Yw nc=100

L AgINDUs =IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)
tLaBINDUs =IN(A 10t A2 )/ (AoAon)  (X=YTY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

C,=(Y/AY)

application
1 range

=1

AN—92  pXw=5

log (t*/t* ) LABJNDUS relative triangle lightnesst*/t*,

e, h=Yw - -nc=100,

tLagaNDus =IN(A1n+A2Y)(A2rAgn) - (Yad100<Y<=Yyo)
1 ABINDUS=IN(A 17+ A2 )/(A2yA0n)  (X=Y/YY)
t(3,6)=146 *,(18)=332,*(90)=517

log[t*/t* ]=0, m,=0,33

1 application
f range
%=1

log(AY/AY,) LABJINDUS relative

tristimulus value difference
NNy Yoc=Yw - nc=100,

tLagaNDus =IN(A1ntAY)(A2rAcn)  (Yad100<Y<=Yyo)
t*LagaNDus =IN(A1ntA2X) (A2iAon) - (X=Y7Yy)
dY/dY =(A1+A X (A1 +AY)

>
t+,=332, dY,=0,18 dY,/r,=0 4101 4@
=g
logl(dYY(dY),J=0. 7,20 56 e %1
«* application
. 1 range

=1

-

XN=0,2 Xw=5

CEC50-4A

1og [(AY/Y) I (AYIY),]

LABJNDUS relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
tLaBaNDus =IN(A 1+ A Y)(A2rAgn)  (Yad100<Y<=Yyo)

t*LaganDus =IN(A 1t A2 (A2iAon) - (X=Y7Yy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)

A N
log[(dY/YY(dY/Y)]=0, m=-0,13 o
t*,=332 dY,=0,18 dY,/Y,=0,0101} ?g’npg','ga""”
%=1

XN=0,2 Xw=5

CEC50-6A

log [(YIAY) / (YAY),]

LABJNDUS relative

- tistimulus value contrast
ColCy = (YY), v 2y 2 2160
tLagaNDus =IN(A 1+ ALY (A2rAgn)  (Yad100<Y<=Yyo)
tLagaNDus =IN(A 1t A2 X) (A2iAon) - (X=Y1Yy)
(YIYY(YIY) =X (At AN (A 15+A2y)

application
range

log (T*) LABJNDuUS triangle lightness T*
Y,

T+ he"L*w - nc=10

T*LABINDUS=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LaganDus=IN(A 10 A2 X)/ (A2iAon) - (X=Y1Yy)
T+ (3,6)=146,T* ,(18)=332,T* ,(90)=517

log[T*/T* ;]=0, m,=0,33

CEC51-1A

log(AY) LABJINDUS
AY tristimulus value difference
YomL*yy - =100,
T*LABINDUS=IN(A 10+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
T*LABINDUS=IN(A 1+ A2)/(A2uAon) - (X=YTYy)
dv:AOn(A1n+A2nY)=A0n(A1n+A2uX) X:YIYU
Aon0es=1,5, Aon a=1,0, see CIE 230:2019 _.
4
>

CEC51-3A

log AY/Y) LABJNDU5
tristimulus value sensitivity

SEERY) Yoc=L*w -~ nc=100
T*LABINDUS=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)

T*LaBINDUS=IN(A 1+t A2)/(A2Aon) - (X=YTYy)
AYIY=Por(A it AgY)Y=Ag (A it AgX)/Y

~

=1
XN=0,2 Xw=5

CEC51-5A

log (Y/AY) LABJINDu5

tristimulus value contrast
G Yol W =100

nc’

T*LABINDUS=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
T aganDus=IN(A 10+t A2X)(AgAon) - (X=YTY,)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

application
1 range

%=1
Pw=5

CEC51-7A

CEC51-7N

TUB-test chart CEC5; LABINDY3*(Y) & T*(Y), Yne=(Y&L*) wrcBng ox=1,00
Absolute and relative lightness, sensitivity and contragt=A5, A1n=0,017, A,=0,0058, A,=0,10

log (T*/T*,) LABJNDUS relative triangle lightness T*/T*,

= *

THT*, Yoc=L* w nc=100,

T*LABINDUS =IN(A 1ntA2nY)/(AnAon)  (Ynd/100<Y<=Yoo)
T*LaganDus =IN(A 10tA2X)/ (A2iAon) - (X=Y1Yy)
TN (3:6)=146,T* ,(18)=332,T*,(90)=517

log[T*/T* ]=0, m=0,33

1 application
f range
%=1

CEC51-2A
log(AY/AY,) LABJINDUS relative

tristimulus value difference
AYIAY, Ve irl
T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

CEC51-4A

1og [(AY/Y) I (AYIY),]

LABJNDUS relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc’
T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)

e
log[(dY/Yy(dY/Y),]=0, m,=-0,13 .
T+,=332 dY,=0,18 dY,/Y,=0,010%} ?g’npg','ga""”

=1

XNn=0,2 Xw=5

CEC51-6A

log [(YIAY) / (YAY),]

LABJNDUS relative

. tistimulus value contrast
CelCry=(YIMI(YIAY)y - 2w 2100
T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)
(YIYY(YIY) =X (A+A X)) (A 15+A2y)

application
range

CEC51-8A
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